=

;*J’

(@&  PRODUCT CATALOGUE 217




CHAPTER 5:05 ACCESSORIES

HYDROSCAND ACCESSORIES

ACCESSORIES PAGE
PRODUCT GROUP 500, 505, 507 OCH 510

5524 Hose protection yellow, flat 232
. i 5524-00-001 Complete hose protection rack 233
This product group includes products that complement 5525 Fire sleeve for hose 234
Hydroscand’s range of hoses and fluid connectors, for 5525-10 Pyrosil tape 234
example: . . 5526 Hose protection black, flat 233

- Hose protection from external ab, comes in several )
designs. 5526-6 Hose protection . 231
- Straps and cable ties for the hose package. 3526-7 Sealable hose protection 231
- Hose reels for safe and rational hose handling. 3526-80 Hose protection, luminous 234
5528 Stainless steel braid 234
Hydroscand also offers lubricating equipment, fluids for 5528-01 Whipcheck, safety cable 235
thread sealing, flange sealing, oils and grease. 5528-01N HH Hose halters nylon 235
5528-10 Support plait, open 235
5528-20 Support plait, single 235
TABLE OF CONTENTS 5528-90 Safety handle 235
5530-01 Protection plug, tapered 236
5530-08 YELLOC service plug 226
5531-00 Protection plug UNF M 237
ACCESSORIES PAGE 5531-01 Protection cap UNF F 236
5532-03 Protection plug KS 237
5533-00 Protection plug G M 236
1415-50 Tiger tail 235 5533-01 Protection cap G F 236
24-9000-01 Assortment box, CLS 238 5533-05 Protection cap MM F 236
5099-24-08 ~ O-ring tool 239 5533-06 Protection plug MM M 237
5100-10-XX " Scuffring 224 5534-03/06 Protection cap - SAE flange 237
5100-11-XX Pad for scuffring 224 5555-32 Nozzle pipe 228
5100-12-00 Sling for scuffring 224 5555-63 Nozzle pipe 228
5400 Hose reel 220 5561-00-01 Assortment box, Hose clamp mini 238
5401 Hose reel, stainless steel 220 5561-00-02 Assortment box, Hose clamp SMS 238
5402 Hose reel 221 5563-00-12 Assortment box, Hose clamp SMS, stainless 239
5403 Hose reel, stainless steel 221 5564-00-06 Assortment box, Hose clamp W5 8-70 mm 239
5404 Complete air reel 221 5568-00-01 Assortment box, Hose clamps W1 8-70 mm 239
5405 Hose reel, robust 222 5601 Rubber steel washer 241
5406 Hose reel, robust, stainless steel 222 5601-00-02 Assortment box, rubber steel washer BSP 238
5407 Hose reel, welding 223 5601-00-04 Assortment box, rubber steel washer BSP/mm 238
5408 Hose reel, manual 223 5601-00-03 Assortment box, rubber steel washer mm 238
5410 Hose stopper 224 5610-01 0-ring UNF 240
5411 Swivel 224 5610-02 O-ring for SAE-flange 240
5414 Swivelling bracket 224 5610-03 0-ring for DKLO 240
5430 Rotating brush 230 5610-04  O-ring for DKSO 240
5430 Universal brush 230 5610-05 O-ring for high pressure washer 240
5430-01-40 Spray gun 350 bar 228 5610-07 O-ring ORFS 240
5430-01-42  Spray gun 350 bar SS 228 5610-10 O-ring for BSP hose fitting 240
5430-01-44 Spray gun 310 bar, anti-freeze 228 5610-13 D-ring NBR Supercat flange 240
5430-01-46 Spray gun 280 bar 228 5611-00-01 O-ring set, inch 239
5430-01-49  Spray gun 280 bar 228 5611-00-02 O-ring set, metric 239
5430-01-50 Spray gun 255 bar 228 5611-00-03 Assortment box, o-rings ORFS 238
5430-01-81 Nipple KEW 228 5620 Copper plate 241
5430-01-83  Adaptor KEW 228 5620-00-01 Assortment box, copper plate 238
5430-01-84 Swivel fitting 228 5650-00-01 Thread tape 226
5430-02-69 Double lance, stainless steel 229 5650-00-05 Lubricant for SS assembly 226
5430-02-91 Under body lance 229 5660-02 Scrubs wet wipes 225
5430-04-48  Nozzle protection 280 bar 229 5660-70-01 Threadlocker, low strength, 50 ml 242
5430-04-50  Nozzle protection 280 bar SS 229 5660-70-02 Threadlocker, medium strength, 50 ml 242
5430-04-43  Nozzle protection 229 5660-70-03 Threadlocker, high strength, 50 ml 242
5430-04-42  Nozzle 21 Mpa 229 5660-70-05 Hydraulic sealant, medium strength, 50 ml 242
5430-04-62/64Nozzle 50 Mpa 229 5660-70-06 Pipe thread sealant, low strength, 75 ml 242
5430-04-90/92Nozzle. RotoJet 21 Mpa 229 5660-70-30 Pipe thread sealant, low strength, 250 ml 242
5430-10 High pressure nozzle 229 5660-70-08 Pipe thread sealant, medium strength, 75 ml 242
5430-10-68 Low pressure nozzle 230 5660-70-09 Pipe thread sealant, medium strength, 250 ml 242
5430-11 Sewer nozzle 230 5660-70-07 Surface sealant, medium strength, 75 ml 242
5430-12 Rotating sewer nozzle 230 5660-70-15 Adhesive grease spray, 400 ml 242
5430-13 Lance, stainless steel 229 5660-70-16 Multi protection spray, 400 ml 243
5490 Hose holder 224 5660-70-21 Power belt spray, 400 ml 243
5490-00 Suction strainer 227 5660-70-22  Oil spray for drilling and cutting, 400 ml 243
5490-01 Suction strainer BSP 227 5660-70-24 PTFE-spray, 400 ml 243
5490-10 Non-return valve, brass 227 5660-70-12 Instant adhesive universal, 20 g 243
5490-20 Foot valve, brass with strainer 227 5660-70-13 Instant adhesive elastomer, 20 g 243
5491 Flush nozzle 228 5660-70-14 Assembly cleaner spray, 500 ml 243
5491-00-04 NITO Water gun Heavy Duty 228 5660-70-18 Multi power cleaner spray, 500 ml 243
5521 Steel spiral, flat 232 5660-70-28 Brake cleaner spray, 500 ml 243
5523 Plastic spiral, flat 232 5660-70-11 Activator, 150 ml 244

PRODUCT CATALOGUE




CHAPTER 5:05 ACCESSORIES

5660-70-20  Retaining compound, high-strength, 50 ml 244

5660-70-25  Rust solvent with MoS, spray, 400 ml 244
5660-70-29  Leak detection spray, 300 ml 244
5770 Rubber protection 230
5902-90-01  Assortment box, grease nipples 238
5995 Oil service valves 226
5905 Cambuckle strap 235
5996 Oil service hose 226
5906 Cable tie 235
7071 Adaptor F x M 230
7072 Adaptor F x M 230
7073-06 Swivel F x M 230
7073-22 Adaptor F x M 230
7074 Adaptor M x M 230
7075 Adaptor M x M 230
825X Oil/grease 226
8260-00 Universal Absol 225
8260-03 Clean-Up bag 225
8260-00 Absorbents 225
9601 Cleaning rags 225
M00000001  Assortment box, pneumatic 238

CHVE

PRODUCT CATALOGUE




CHAPTER 5:05 ACCESSORIES

Hose reel for hoses up to 1/2”

Robust powder coated steel reel. It rolls up the hose automa-
tically and the hose can also be locked at the desired length.
Adjustable hose-guide arm. Can be assembled on a wall, ceiling
or floor. Swivelling bracket is available as an extra equipment.

5400

Hose reel
For hoses up to 1/2"

PRODUCT GROUP 507

Hose length, max \';\i';ff\h ‘1128 22
1/47,3/8" 15 meter Height: 447 mm
172 10 meter Weight: 15 kg

Part number Description

5400-00-00 Hose reel 5400

5414-00-01 Swivelling bracket for 5400/5401

5410-00-04 Hose stopper 1/4”

5410-00-06 Hose stopper 3/8”

5410-00-08 Hose stopper 1/2”

5411-40-04 Swivel 400 bar 1/4” F grease

5411-40-06 Swivel 400 bar 3/8” F water 150°C

5411-40-06F Swivel 400 bar 3/8” F water 150°C stainless design

5411-40-08F Swivel 400 bar 1/2” F water, 150°C stainless design

5411-60-06 Swivel 60 bar 3/8” F water, ail, oil 40°C

5411-60-08 Swivel 60 bar 1/2” M water, air, oil 40°C

5411-60-08F Swivel 60 bar 1/2” M water, air, oil 40°C stainless design

5413-00-01 Spare spring
Hose reel in stainless design for hoses up to 1/2”
Hose reel mainly used for hot water cleaning at high and low pressure. Suitable 5401
for corrosive environments and in food factories, kitchens, slaughter houses Hose reel

and chemical and pharmaceutics industries. It rolls up the hose automatically
and the hose can also be locked at the desired length. Adjustable hose-guide
arm. Can be assembled on a wall, ceiling or floor. Swivelling stainless bracket is
available as an extra equipment.

Hose length, max
1/4",3/8" 15 meter
1/2" 10 meter

For hoses up to 1/2"
Stainless steel
PRODUCT GROUP 507

Length: 460 mm
Width: 180 mm
Height: 447 mm
Weight: 15 kg

Part number Description

5401-00-00
5414-00-01
5414-00-01F
5410-00-04
5410-00-06
5410-00-08
5411-40-04
5411-40-06
5411-40-06F
5411-40-08F
5411-60-06
5411-60-08
5411-60-08F

Hose reel 5401 stainless design

Swivelling bracket for 5400/5401

Swivelling bracket for 5400/5401 stainless design
Hose stopper 1/4”

Hose stopper 3/8”

Hose stopper 1/2”

Swivel 400 bar 1/4” F grease

Swivel 400 bar 3/8” F water 150°C

Swivel 400 bar 3/8” F water 150°C stainless design
Swivel 400 bar 1/2"” F water, 150°C stainless design
Swivel 60 bar 3/8” F water, air, oil 40°C

Swivel 60 bar 1/2” M water, air, oil 40°C

Swivel 60 bar 1/2” M water, air, oil 40°C stainless design

PRODUCT CATALOGUE

(]




CHAPTER 5:05 ACCESSORIES

Hose reel for hoses up to 1/2”

Robust powder coated steel reel. Suitable for transferring fluids at se-
veral pressures and temperatures. It rolls up the hose automatically and
the hose can also be locked at the desired length. Adjustable hose-guide
arm. Can be assembled on a wall, ceiling or floor. Swivelling bracket is
available as an extra equipment.

Hose length, max
1/4",3/8" 20 meter
1/2" 15 meter

5402

Hose reel
For hoses up to 1/2"

PRODUCT GROUP 507

Length: 460 mm
Width: 230 mm
Height: 447 mm
Weight: 20 kg

Part number

5402-00-00
5414-00-02
5410-00-04
5410-00-06
5410-00-08
5411-40-04
5411-40-06
5411-40-06F
5411-40-08F
5411-60-06
5411-60-08
5411-60-08F
5413-00-02

Description

Hose reel 5402

Swivelling bracket for 5402/5403/5407

Hose stopper 1/4”

Hose stopper 3/8”

Hose stopper 1/2”

Swivel 400 bar 1/4” F grease

Swivel 400 bar 3/8” F water 150°C

Swivel 400 bar 3/8” F water 150°C stainless design
Swivel 400 bar 1/2” F water, 150°C stainless design
Swivel 60 bar 3/8” F water, air, oil 40°C

Swivel 60 bar 1/2” M water, air, oil 40°C

Swivel 60 bar 1/2” M water, air, oil 40°C stainless design
Spare spring

Hose reel in stainless design for hoses up to 1/2"

Hose reel mainly used for hot water cleaning at high and low pressure. Suitable
for corrosive environments and in food factories, kitchens, slaughter houses
and chemical and pharmaceutics industries. It rolls up the hose automatically
and the hose can also be locked at the desired length. Adjustable hose-guide
arm. Can be assembled on a wall, ceiling or floor. Swivelling stainless bracket
is available as an extra equipment.

Hose length, max
1/4”,3/8" 20 meter
1/2" 15 meter

5403

Hose reel

For hoses up to 1/2"
Stainless steel
PRODUCT GROUP 507

Length: 460 mm
Width: 230 mm
Height: 447 mm
Weight: 20 kg

Part number

5403-00-00
5414-00-02
5414-00-02F
5410-00-04
5410-00-06
5410-00-08
5411-40-04
5411-40-06
5411-40-06F
5411-40-08F
5411-60-06
5411-60-08
5411-60-08F
5413-00-03

Description

Hose reel 5403 stainless design

Swivelling bracket for 5402/5403/5407

Swivelling bracket for 5402/5403/5407 stainless design
Hose stopper 1/4”

Hose stopper 3/8”

Hose stopper 1/2”

Swivel 400 bar 1/4” F grease

Swivel 400 bar 3/8” F water 150°C

Swivel 400 bar 3/8” F water 150°C stainless design
Swivel 400 bar 1/2” F water, 150°C stainless design
Swivel 60 bar 3/8” F water, air, oil 40°C

Swivel 60 bar 1/2” M water, air, oil 40°C

Swivel 60 bar 1/2” M water, air, oil 40°C stainless design
Spare spring

Complete air reel with 10 meter of durable polyurethane hose

A small professional hose reel intended for air. Robust powder coated
steel construction. It rolls up the hose automatically and the hose
can also be locked at the desired length. Delivered with a swivelling
bracket. The air reel is equipped with a durable textile-reinforced
polyurethane hose.

5404

Complete air reel

PRODUCT GROUP 507

Length: 360 mm
Width: 110 mm
Height: 207 mm
Weight: 8 kg

Part number

5404-00-01
5404-00-03

Description

Complete hose reel 5404 with 10 m air hose 5/16", 20 bar
Complete hose reel 5404 with 10 m air hose 3/8”, 20 bar

@ PRODUCT CATALOGUE

CHVE




CHAPTER 5:05 ACCESSORIES

Robust hose reel for hoses up to 1”

Robust powder coated steel construction. It rolls up the hose automatically and the
hose can also be locked at the desired length. The drum rotates on ball bearings to
reduce friction and to improve functionality. Can be assembled on a wall, ceiling or
floor. Delivered with a fixed bracket.

Hose length, max

3/8”,1/2" 30 meter
5/8" 25 meter
3/4” 20 meter
1” 15 meter

5405

Hose reel

For hoses up to 1”

PRODUCT GROUP 507

Length: 615 mm
Width: 360 mm
Height: 610 mm
Weight: 34 kg

Part number

5405-00-00
5410-00-06
5410-00-08
5410-00-12
5410-00-16
5411-40-06
5411-40-06F
5411-40-08F
5411-60-06
5411-60-08
5411-60-08F
5411-61-16
5411-62-16

Description

Hose reel 5405 incl. fixed bracket

Hose stopper 3/8”

Hose stopper 1/2”

Hose stopper 3/4”

Hose stopper 1”

Swivel 400 bar 3/8” F water 150°C

Swivel 400 bar 3/8” F water 150°C stainless design
Swivel 400 bar 1/2” F water, 150°C stainless design
Swivel 60 bar 3/8” F water, air, oil 40°C

Swivel 60 bar 1/2” M water, air, oil 40°C

Swivel 60 bar 1/2” M water, air, oil 40°C stainless design
Swivel 60 bar 1” M water 150°C

Swivel 60 bar 1” M air, oil, water 40°C

Robust hose reel in stainless design for hoses up to 1”

Robust reel in stainless steel. It rolls up the hose automatically and the
hose can also be locked at the desired length. The drum rotates on ball
bearings to reduce friction and to improve functionality. Can be assembled
on a wall, ceiling or floor. Delivered with a fixed bracket.

Hose length, max

3/8”, 1/2" 30 meter
5/8" 25 meter
3/4” 20 meter
1” 15 meter

5406

Hose reel
For hoses up to 1”

PRODUCT GROUP 507

Length: 615 mm
Width: 360 mm
Height: 610 mm
Weight: 34 kg

Part number

5406-00-00
5410-00-06
5410-00-08
5410-00-12
5410-00-16
5411-40-06
5411-40-06F
5411-40-08F
5411-60-06
5411-60-08
5411-60-08F
5411-61-16
5411-62-16

Description

Hose reel 5406 stainless design incl. fixed bracket
Hose stopper 3/8”

Hose stopper 1/2”

Hose stopper 3/4”

Hose stopper 1”

Swivel 400 bar 3/8” F water 150°C

Swivel 400 bar 3/8” F water 150°C stainless design
Swivel 400 bar 1/2” F water, 150°C stainless design
Swivel 60 bar 3/8” F water, air, oil 40°C

Swivel 60 bar 1/2” M water, air, oil 40°C

Swivel 60 bar 1/2” M water, air, oil 40°C stainless design
Swivel 60 bar 1” M water 150°C

Swivel 60 bar 1” M air, oil, water 40°C

PRODUCT CATALOGUE

(]




CHAPTER 5:05 ACCESSORIES

Hose reel for welding hose, twin

Specially developed to handle twin hose for oxygen/acetylene and oxygen/ 5407

propane. Robust powder coated steel reel. It rolls up the hose automatically Hose reel

and the hose can also be locked at the desired length. The reel is equipped For twin welding hose

with Hydroscand hoses who are produced according to european norm EN559/

1503821. Swivelling bracket is available as an extra equipment. PRODUCT GROUP 507
Length: 460 mm

Hose length, max Width: 280 mm

1/4”, 5/16" 20 meter Height: 447 mm

3/8” 15 meter Weight: 25 kg

Part number Description

5407-00-00 Hose reel 5407 incl. swivel 1/4” - 3/8"
5410-00-02 Hose stopper twin hose 8x14 mm or 10x17 mm
5410-00-04 Hose stopper 1/4”

5410-00-06 Hose stopper 3/8”

5414-00-02 Swivelling bracket 5402/5403/5407

Manual hose reel for water hose
Easy, robust manual reel. Wall mount is included. Can be used, for 5408
example as a fire hydrant. Nozzles are available as accessories. Hose reel

For water hose

Hose length, max
1/2" 50 meter PRODUCT GROUP 507

3/4” 25 meter

Part number Description 5:05

5408-00-00 Hose reel 5408
5408-00-01 Hose guide, model 5408

(@&  PRODUCT CATALOGUE




CHAPTER 5:05 ACCESSORIES

5410

Hose stopper

5411

Swivel
For hose reel

C -
PRODUCT GROUP 507

Part number Description Part number Description

PRODUCT GROUP 505

5410-00-04 Hose stopper 1/4” 5411-40-04 Swivel 400 bar 1/4” F grease

5410-00-06 Hose stopper 3/8” 5411-40-06  Swivel 400 bar 3/8” F water 150°C

5410-00-08 Hose stopper 1/2" 5411-40-06F Swivel 400 bar 3/8” F water 150°C rostfri
5410-00-12 Hose stopper 3/4" 5411-40-08F Swivel 400 bar 1/3” F water, _150.°C s(t)ainless design
5410-00-16 Hose stopper 1” 5411-60-06 Swivel 60 bar 3/8” F water, air, oil 40°C

5411-60-08 Swivel 60 bar 1/2” M water, air, oil 40°C

5411-60-08F Swivel 60 bar 1/2"” M water, air, oil 40°C Stainless design
5411-61-16 Swivel 60 bar 1” M water 150°C

5411-62-16 Swivel 60 bar 1” M air, oil and water 40°C

5410-00-02 Hose stopper twin hose 8x14 mm
or 10x17 mm

5414
Swivelling bracket _ e
For hose reel ]/‘r_— '_. %\ 5490
Y B Hose holder
PRODUCT GROUP 507 (% “‘*’,.l\y Zinc
o ’(jif )P) - PRODUCT GROUP 505
Part number Description Model W ﬁ)) W = Width D = Depth

5414-00-01 Swivelling bracket 5400/5401
5414-00-02 Swivelling bracket 5402/5403/5407 P b D _ M
5414-00-01F Swivelling bracket 5400/5401 SS AL e e il SaSUIC
5414-00-02F Swivelling bracket 5402/5403/5407 SS 5490-05-01 1/2” 30 m W =110 D = 150
5490-05-02 1/2" 60 m W = 140D = 320
5100-10-XX
Scuffring
Use together with pad and sling 5100-1 1-Xx

Pad for scuffring
Use together with scuffring

PRODUCT GROUP 507

PRODUCT GROUP 507

Part number Dimension Hose OD

5100-10-48 3" 75-92 mm Part number Dimension
5100-10-64 4" 95-118 mm

5100-10-96 6" 155-180 mm 5100-11-48 3"
5100-11-64 4"

5100-11-96 6"

5100-12-00

Sling for scuffring

Use together with scuffring and pad.

t-:" PRODUCT GROUP 507
51001200

PRODUCT CATALOGUE (&




CHAPTER 5:05 ACCESSORIES

9601

Cleaning rags

8260-03
Clean-Up bag

i
ar
- ¥
- PRODUCT GROUP 505
-

Part number  Description Contents Quantity

PRODUCT GROUP 505

9601-01-010 White cleaning rags cotton BVO 10 kg Absorption cloth 10
9601-01-110 White sheet cleaning rags cotton BVL 10 kg Absorption snake 2
9601-02-010 Colored cleaning rags cotton TKS 10 kg Gloves nitrile 1 pair
9601-03-010 Colored terry rags cotton KF 10 kg Oil resistant plastic bag 1

Part number Description

8260-03-02 Absorption cloth, only oil, 5-pack
8260-03-03 Absorption snake, only oil, 1,5 m

8260-00
= Absol absorbs and neutralizes hazardous spills .
i quickly and easily. The product is multi-function- Universal Absol
| o al and suited to all locations where oil, grease, Absorbs 0,85 L 0/2,0 L of water per liter
- 1 paint, solvents and acids is used.
- ol PRODUCT GROUP 505
‘ESGL | Absol contains no hazardous ingredients.
n"!sul: R i
P =

Part number Description

8260-00-03 Absol Blue 16 liter bucket a 10 kg
8260-00-07 Absol Blue 40 liter bag a 16 kg

For safety data sheet, visit our homepage www.hydroscand.com

5660-02

’ Scrubs wet wipes

PRODUCT GROUP 505

Fixed bracket for Scrubs. Perfect for
the store, workshop, car etc.

Part number Description

5660-02-30 Scrubs wet wipes, bucket with 72 napkins
5660-02-33 Scrubs wet wipes, bucket with 30 napkins
5660-02-32 Scrubs wet wipes, pocket pack with 15 napkins
5660-02-31 Fixed bracket for Scrubs bucket, 30 or 72 napkins

For safety data sheet, visit our homepage www.hydroscand.com

@ PRODUCT CATALOGUE

CHVE




CHAPTER 5:05 ACCESSORIES

825x
Oil/grease
A
ol

Part number Description Packaging Quantity
8250-32-04 Hydraulic oil ISO VG 32 Can 4|
8250-32-20 Hydraulic oil ISO VG 32 Can 201
8250-46-20 Hydraulic oil ISO VG 46 Can 201
8250-32-208 Hydraulic oil ISO VG 32 Barrel 208 |
8250-46-208 Hydraulic oil ISO VG 46 Barrel 208 |
8258-00-04 Grease Premium Hi-Temp Cartridge 0,4 kg
8258-00-18 Grease Premium Hi-Temp Bucket 18,0 kg
8258-00-54 Grease Premium Hi-Temp Barrel 54,5 kg
8258-01-81 Grease Premium Hi-Temp Barrel 181,0 kg

For safety data sheet, visit our homepage www.hydroscand.com
- 5995 5530-08
i; 0il service valves YELLOC Service plug
i .'_.‘-: p— !
= PRODUCT GROUP 505 hy
PRODUCT GROUP 505

Part number Thread hose connection Thread block

5995-14-15 M22 M14 x 1,5
5995-16-15 M22 M16 x 1,5
5995-18-15 M22 M18 x 1,5
5995-18-16 M26 M18 x 1,5
5995-20-16 M26 M20 x 1,5
5995-22-15 M26 M22 x 1,5
5995-24-15M M26 M24 x 1,5
5995-24-20M M26 M24 x 2,0
5995-01-12 M26 3/4"-16 UNF
5995-01-14 M26 7/8"-14 UNF
5995-00-06 M22 G 3/8"
5995-00-08 M26 G1/2"
5995-00-12M M26 G 3/4"
5996
0Oil service hose
’lf & < PRODUCT GROUP 505
Part number Thread hose connection Hose length
5996-00-22 M22 250 mm
5996-05-22 M22 500 mm
5996-02-26 M26 250 mm
5996-05-26 M26 500 mm
5996-01-26 M26 1000 mm
5996-42-22 M22 45° 250 mm
5996-92-22 M22 90° 250 mm
5996-42-26 M26 45° 250 mm

Part number Dimension, inch Dimension, mm

5530-08-02 1/8"-3/8" 1-10
5530-08-00 3/16"-1" 4-23
5530-08-01 3/4"-2" 12-43
. 5530-08-05X
] YELLOC Service plug
1 § Mix
e T PRODUCT GROUP 505

Part number Dimension, mm

5530-08-05 4 pcs. 1-10 mm
4 pcs. 5-22 mm

2 pcs. 13 =42 mm

5900-00-01
Tail lift repair kit

PRODUCT GROUP 505

Part number

5900-00-01

PRODUCT CATALOGUE (@&




CHAPTER 5:05 ACCESSORIES

5650
Thread tape

PRODUCT GROUP 505

&

5490-10

Non-return valve, brass
Working pressure: 16 Bar
Opening pressure: 0,02 Bar

Temperature: +100°C

Spring of stainless steel. Seal of nitrile

PRODUCT GROUP 500

Part number  Description Width Length
5650-00-01 Thread tape 1/2" 12 m
5650

Lubricant for
stainless steel assembly

D

< p
-~
-

PRODUCT GROUP 505

Part number Description Quantity
5650-00-05 Oil for SS assembly, 250 ml 1
5490-00

Suction strainer

PRODUCT GROUP 505

Part number Description Thread
5490-10-06 Non-return walve G 3/8"F
5490-10-08 Non-return walve G1/2"F
5490-10-12 Non-return walve G 3/4"F
5490-10-16 Non-return walve G1"F
5490-10-20 Non-return walve G11/4"F
5490-10-24 Non-return walve G11/2"F
5490-10-32 Non-return walve G2"F
5490-10-40 Non-return walve G21/2"F
5490-10-48 Non-return walve G3"F
5490-10-64 Non-return walve G4"F

5490-20

Foot valve

Brass with strainer
Working pressure: 16 Bar
Opening pressure: 0,02 Bar

Temperature: +120°C

Part number Description Dimension
5490-00-24 Suction strainer 11/2"
5490-00-32 Suction strainer 2"
5490-00-48 Suction strainer 3"
5490-00-64 Suction strainer 4"
5490-01

Suction strainer BSP

PRODUCT GROUP 505

Part number Description Dimension
5490-01-16 Suction strainer 1" IF
5490-01-24 Suction strainer 11/2"IF
5490-01-32 Suction strainer 2" IF
5490-01-40 Suction strainer 2 1/2" IF
5490-01-48 Suction strainer 3" IF
5490-01-64 Suction strainer 4" IF
5490-01-96 Suction strainer 6" IF
5490-01-203 Suction strainer 8" IF

(@&  PRODUCT CATALOGUE

- E Spring of stainless steel. Seal of nitrile
PRODUCT GROUP 500

Part number Description Thread
5490-20-06 Foot valve with strainer G 3/8”F
5490-20-08 Foot valve with strainer G 1/2"F
5490-20-12 Foot valve with strainer G 3/4”" F
5490-20-16 Foot valve with strainer G1"F
5490-20-20 Foot valve with strainer G 1 1/4” F
5490-20-24 Foot valve with strainer G 1 1/2" F
5490-20-32 Foot valve with strainer G2"F

CHVE




CHAPTER 5:05 ACCESSORIES

5555 5430-01-49
Nozzle pipe Spray gun
b s : e PRODUCT GROUP 500 280 bar
PRODUCT GROUP 505
Part number Type Part number  Inlet Outlet
5555-32-08X1 1/2"-3/4" hose pipe 5430-01-49 M22 M G1/4"F
5555 5430-01-50
NOZZle p]pe Spray gun
255 bar

PRODUCT GROUP 500

PRODUCT GROUP 505

Part number Type

5555-63-08X1 Male part 1/2"

Outlet
G1/4"F

Inlet
G 3/8"F

Part number

5430-01-50

5491

Flush nozzle

PRODUCT GROUP 505

Ve %

5491

NITO
Water gun Heavy Duty

PRODUCT GROUP 505

Part number Description Thread

5491-00-01 Flush nozzle, industry G 3/4"M
5491-00-02 Flush nozzle, food G 3/4"M
5430-01-40
Spray gun
350 bar
PRODUCT GROUP 505
Part number Inlet Outlet
5430-01-40 G 3/8" F swivel G1/4"F
5430-01-42
Spray gun
Stainless steel,
food approved
350 bar
PRODUCT GROUP 505
Part number Inlet Outlet
5430-01-42 G3/8"F G 1/4"F
5430-01-44

Spray gun

Anti-freeze 310 bar

PRODUCT GROUP 505

Part number Inlet Outlet
5430-01-44 G 3/8"F G1/4"F
5430-01-46
Spray gun
280 bar
PRODUCT GROUP 505
Part number Inlet Outlet
5430-01-46 G 3/8" F swivel G1/4"F

Part number Thread
5491-00-04 G1/2"F
5430-01-81X1

Nipple KEW

PRODUCT GROUP 505

Part number

5430-01-81X1

Type
G1/4" M

5430-01-83X1
Adaptor KEW

PRODUCT GROUP 505

Part number Type

5430-01-83X1 G1/4"F

5430-01-84X1
Swivel fitting

PRODUCT GROUP 505

Part number

Type

5430-01-84X1

G 1/4"-M22

Information: Part number labeled x1 is blister packages

PRODUCT CATALOGUE

@&




CHAPTER 5:05 ACCESSORIES

5430

Lance stainless steel

Max temp 150°C, WP 25,0 MPa
40 |/min
PRODUCT GROUP 505

5430

Nozzle
Max temp 150°C, WP 21,0 MPa

PRODUCT GROUP 505

Part number Type Inlopp Utlopp
5430-13-02 700 mm G1/4"M G1/4"M
5430-13-03 900 mm G1/4"M G1/4"M
5430-13-04 1200 mm G1/4"M G1/4"M
5430-13-05 1500 mm G1/4"M G1/4"M
- 5430
\ Double lance stainless steel
= Max temp 150°C, WP 25,0 MPa
/ 40 U/min
PRODUCT GROUP 505
Part number Type Inlopp Utlopp
5430-02-69 1100mm G1/4"M NPT 1/4"F
5430

Under body lance

Max temp 150°C, WP 28,0 MPa
40 l/min
PRODUCT GROUP 505

Connection

Part number Type

5430-02-91 750 mm M 22 x 1,5 NPT 1/4" F

5430

Nozzle protection
280 bar
PRODUCT GROUP 505

Part number Type
5430-04-48X1 G 1/4”
5430
Nozzle protection
280 bar/SF
PRODUCT GROUP 505
Part number Type
5430-04-50X1 G 1/4”
5430
Nozzle protection
» PRODUCT GROUP 505
Part number Type
5430-04-43X1 G 1/4"

@ PRODUCT CATALOGUE

Connection

Part number Type

5430-04-42 Adjustable nozzle G1/4"F
NPT 1/8” F

5430

Nozzle

Max temp 100°C, WP 50,0 MPa

PRODUCT GROUP 505

Part number Type Connection

5430-04-62 Rotolet nozzle 045 G1/4"F
5430-04-64 RotoJet nozzle 055 G1/4"F
5430
Nozzle

Max temp 100°C, WP 21,0 MPa

PRODUCT GROUP 505

Part number Type Connection
5430-04-90 Rotolet nozzle 045 G1/4"F
5430-04-92 Rotolet nozzle 055 G1/4"F

5430

High pressure nozzle

PRODUCT GROUP 505

Part number Type Connection

5430-10-52X1 Nozzle 030 angle 15° NPT 1/4”" M
5430-10-53X1 Nozzle 035 angle 15° NPT 1/4” M
5430-10-54X1 Nozzle 040 angle 15° NPT 1/4” M
5430-10-55X1 Nozzle 045 angle 15° NPT 1/4”" M
5430-10-56X1 Nozzle 050 angle 15° NPT 1/4” M
5430-10-57X1 Nozzle 055 angle 15° NPT 1/4”" M
5430-10-58X1 Nozzle 060 angle 15° NPT 1/4”" M
5430-10-59X1 Nozzle 065 angle 15° NPT 1/4”" M
5430-10-60X1 Nozzle 030 angle 25° NPT 1/4”" M
5430-10-61X1 Nozzle 035 angle 25° NPT 1/4”" M
5430-10-62X1 Nozzle 040 angle 25° NPT 1/4”" M
5430-10-63X1 Nozzle 045 angle 25° NPT 1/4”" M
5430-10-64X1 Nozzle 050 angle 25° NPT 1/4”" M
5430-10-65X1 Nozzle 055 angle 25° NPT 1/4” M
5430-10-66X1 Nozzle 060 angle 25° NPT 1/4” M
5430-10-67X1 Nozzle 065 angle 25° NPT 1/4”" M

CHVE




CHAPTER 5:05 ACCESSORIES

5430

Sewer nozzle
WP 35 MPa

PRODUCT GROUP 505

Fae

7073

Adaptor Fx M

Max WP 25,0 MPa, max temp. 150°C
max flow 40l/min

PRODUCT GROUP 700

Part number Type Hole Thread
5430-11-14X1 Nozzle 045 3+1 G1/8"F
5430-11-18X1 Nozzle 045 3+1 G 1/4"F
5430-11-19X1 Nozzle 055 3+1 G 1/4"F
5430-11-22X1 Nozzle 045 3+1 G 3/8"F
‘ 5430
Rotating sewer nozzle
WP 25 MPa
PRODUCT GROUP 505
Part number Type Hole Thread
5430-12-02X1 Nozzle 045 3 G1/8"F
5430-12-07X1 Nozzle 050 3 G1/4"F
5430-12-10X1 Nozzle 050 3 G3/8"F
5430
al Low pressure nozzle
& QP P o
@_ \( Max tern4poll?0 .C
min
\\ PRODUCT GROUP 505

Part number Thread 1 X Thread 2
7073-22-04X1 M22x1,5M G 1/4" F HPW
7073-22-06X1 M22x1,5M G 3/8" F HPW

7074

Adaptor M x M

Max WP 25,0 MPa, max temp. 150°C
max flow 40l/min

PRODUCT GROUP 700

Part number Thread 1 X Thread 2

7074-22-22X1 M 22x1,5M M22x1,5MHPW

7075

Adaptor M x M

Max WP 25,0 MPa, max temp. 150°C
max flow 40l/min

PRODUCT GROUP 700

Part number Type Connection
5430-10-68 Low pressure nozzle NPT 1/4”" M
7071

Adaptor F x M
Max WP 25,0 MPa, max temp. 150°C

Part number Thread 1 Thread 2
7075-22-04X1 M22x15M G 1/4" M HPW
7075-22-06X1 M22x1,5M G 3/8" M HPW

5430

Rotating brush
Max temp 60°C, WP 4 MPa

PRODUCT GROUP 505

max flow 40l/min Part number Type Connection
PRODUCT GROUP 700
5430-10-27 Rotating brush G1/4"F
Part number Thread 1 X Thread 2
5430
7071-22-04X1 M22x1,5FS G 1/4" M HPW Universal brush
7071-22-06X1 M 22x1,5FS G 3/8" M HPW Max temp 40°C, WP 0,5 MPa
| 12 |/min
PRODUCT GROUP 505
7072
Adaptor Fx M .
Max WP 25,0 MPa, max temp. 150°C Part number Type Connection
max flow 40l/min
PRODUCT GROUP 700 5430-10-33 Universal brush G1/4"F
5770

Rubber protection

PRODUCT GROUP 505

Part number Thread 1 X Thread 2
7072-22-04X1 M22x1,5FS G 1/4" F HPW
7072-22-06X1 M 22x1,5FS G 3/8" F HPW

7073

Swivel Fx M
Max WP 22,0 MPa, max temp. 150°C

max flow 40l/min
PRODUCT GROUP 700

‘é}ﬁ“

Part number Thread 1 X Thread 2

7073-06-06X1 G 3/8"M G 3/8" FS

Part number  Description Colour ID
5770-01-15 Rubber protection Black 15 mm
5770-01-17 Rubber protection Black 17 mm
5770-01-18 Rubber protection Black 18 mm
5770-01-22 Rubber protection Black 22 mm
5770-02-15 Rubber protection Blue 15 mm
5770-02-18 Rubber protection Blue 18 mm
5770-02-22 Rubber protection Blue 22 mm

PRODUCT CATALOGUE (@&




CHAPTER 5:05 ACCESSORIES

5526-6 Textile hose protection

Pressure resistant — Environment-friendly Pressure test Abrasion test
A hose failure always causes environmental pollution. 10 according to ISO 6945
Hydroscand textile hose protection is made of highly
dense nylon fibre weave that gives the hose protection  ® 500.000 / N\
a density that can handle 8 bar pressure for 15 seconds, / \\ 400.000 /
and thereby preventing unnecessary waste. Tests have / \ 300.000 N

| \ /

|

|

o

IS

been performed according to SAE 1343. 200.000

Cycles

\
|

N

100.000

Abrasion resistant - Economic

The most common damage to hoses are injuries that
occur outside. The nylon fibres in the hose protection
are designed to withstand external mechanical abrasion.
Hydroscand textile hose protection thereby lengthening
the life of your hoses. Abrasion tests were performed in
accordance with ISO 6945th

Pressure (bar)
o

0 2 4 6 8 10 12 14 16 18
Time (sec)

Compact design — Safety

The risk of injury due to so-called “pin hole” is big

when people are in close proximity to hose pipes with
high pressure. The nylon fibres compact design makes it
capable to withstand the pressure from an accident and
therefore reduces the risk of injury significantly.

5526-6

Hose protection

PRODUCT GROUP 505

Durable Pressure resistant

Part number Round dia. Flat dia.
Other hose protection

5526-60-23 23 mm 36 mm CH LY
5526-60-25 25 mm 39 mm

5526-60-31 31 mm 49 mm

5526-60-36 36 mm 54 mm Hydroscand hose protection

5526-60-40 40 mm 63 mm d P

5526-60-53 53 mm 83 mm

5526-60-60 60 mm 94 mm

5526-60-73 73 mm 115 mm

5526-7 Sealable textile hose protection

Properties

The sealable hose protection is the ideal solution when you
have a need to protect several hoses. The heavy velcro
lock makes it possible to protect the hoses that are already
assembled. The protection is made of fiberglass coated
silicone, which makes it capable to handle environments
with temperatures up to 200 ° C.

Benefits

- Can be used on already assembled hoses or cables that
are in operation

- Excellent abrasion properties

- Possible to inspect the hose during operation

- Facilitates maintenance

- Reduces the costs

5526-7
Sealable
hose protection

PRODUCT GROUP 505

Part number Round dia. Flat dia.
5526-70-50 50 mm 78 mm

5526-71-00 100 mm 157 mm
5526-71-50 150 mm 235 mm
5526-72-00 200 mm 314 mm

(@&  PRODUCT CATALOGUE




CHAPTER 5:05 ACCESSORIES

5521

Steel spiral
Flat

Only available in whole meters

PRODUCT GROUP 505

- — p— 5524

Hose protection
' ¥ § ¥ ¥ A Yellow, flat
L & 4 &4 & '8
The hose protection will crimp during storage and tranportation,

but will stretch to the right dimension during assembly.

PRODUCT GROUP 505

Part number Description ID
5521-00-13 Steel spiral 13 mm
5521-00-15 Steel spiral 15 mm
5521-00-17 Steel spiral 17 mm
5521-00-19 Steel spiral 19 mm
5521-00-23 Steel spiral 23 mm
5521-00-26 Steel spiral 26 mm
5521-00-29 Steel spiral 29 mm
5521-00-34 Steel spiral 34 mm
5521-00-41 Steel spiral 41 mm
5521-00-48 Steel spiral 48 mm
5521-00-54 Steel spiral 54 mm
5523

Plastic spiral

Black, flat

Hose and cable protection

PRODUCT GROUP 505

Part number Description ID Thickness
5523-00-06 Plastic spiral 6,4 mm 1,2 mm
5523-00-09 Plastic spiral 12,7 mm 1,6 mm
5523-00-19 Plastic spiral 19,0 mm 1,6 mm
5523-00-25 Plastic spiral 25,0 mm 2,4 mm

Part number  Hose dim. Length Thickness Colour
5524-00-016 11-17 mm 6m 1,6 mm Yellow
5524-00-020 17-21 mm 6m 2,0mm Yellow
5524-00-025 21-27 mm 6m 2,5mm Yellow
5524-00-032 27-35 mm 6m 2,5mm Yellow
5524-00-040 35-42 mm 6m 3,0mm Yellow
5524-00-050 42-58 mm 6m 3,0mm Yellow
5524-00-075 58-70 mm 6m 4,0mm Yellow
5524-00-090 70-90 mm 6m 4,5mm Yellow
5524-00-110 90-115 mm 6m 50mm Yellow
5524-00-140 115-135mm 6m 55 mm Yellow
5524-00-160 135-165mm 6m 55 mm Yellow
5524-25-040 35-42 mm 25m 3,0 mm Yellow
5524-25-050 42-58 mm 25m 3,0 mm Yellow
5524-50-016 11-17 mm 50m 1,6 mm Yellow
5524-50-020 17-21 mm 50m 2,0 mm Yellow
5524-50-025 21-27 mm 50m 2,5mm Yellow
5524-50-032 27-35 mm 50m 2,5mm VYellow
5524-10-016 11-17 mm 1m 1,6 mm Yellow
5524-10-020 17-21 mm 1m 2,0mm Yellow
5524-10-025 21-27 mm 1m 2,5mm Yellow
5524-10-032 27-35 mm I1m 2,5mm Yellow
5524-10-040 35-42 mm 1m 2,5mm Yellow
5524-10-050 42-58 mm I1m 3,0mm Yellow
5524-10-075 58-70 mm I1m 4,0mm Yellow
5524-10-090 70-90 mm 1m 1,5mm Yellow
5524-10-110 90-115 mm 1m 50mm Yellow
5524-10-140 115-135mm 1m 55 mm Yellow
5524-10-160 135-165mm 1m 55 mm Yellow

PRODUCT CATALOGUE &




CHAPTER 5:05 ACCESSORIES

5526

Hose protection \
Black, flat ‘

5524-00-001

Complete hose
protection rack

The hose protection will crimp during storage and tranportation, Floor racks for 1-meter length

but will stretch to the right dimension during assembly. i PRODUCT GROUP 0999

PRODUCT GROUP 505

Part number Number of hose protections Colour

Part number Hose dim. Length Thickness Colour 5524-00-001  Complete hose protection rack including:

5526-00-016  11-17mm 6m 1,6 mm  Black  >>24710-020 10 pcs Yellow

5526-00-020  17-21mm 6m 2,0mm  Black  2°24-10-025 10 pcs Yellow

5526-00-025  21-27mm 6m 2,5mm  Black  >>24-10-032 10 pcs Yellow

5526-00-032  27-35mm  6m 2,5mm  Black  >°24-10-050 7 pcs Yellow

5526-00-040  35-42mm 6m 3,0mm  Black  >2°24710-075 > pcs Yellow

5526-00-050  42-58 mm 6m 3,0 mm  Black  >224710-090 4 pes Yellow

5526-00-075  58-70mm 6m 4,0mm  Black  >>24-10-110 3 pcs Yellow

5526-00-090  70-90 mm 6m 4,5mm  Black  >°26-10-020 10 pcs Black

5526-00-110 90-110 mm 6m 50mm  Black  >226-10-025 10 pcs Black

5526-00-140 115-135mm 6m 55mm  Black  >°26-10-032 10 pes Black

5526-00-160 135-165mm 6m 55mm  Black  >-26-10-050 7 pcs Black
5526-10-075 5 pcs Black

5526-25-040  35-42mm 25m 3,0 mm  Black  >226-10-030 4 pes Black

5526-25-050  42-58 mm 25m 3,0mm  Black  >°26-10-110 3 pcs Black

5526-50-016 11-17 mm 50m 1,6 mm Black

5526-50-020 17-21 mm 50m 20, mm Black

5526-50-025  21-27mm 50m 2,5mm  Black

5526-50-032  27-35mm 50m 2,5mm  Black

5526-10-016  11-17mm 1m 1,6 mm  Black 5:05

5526-10-020 17-21mm 1m 2,0 mm Black

5526-10-025 21-27 mm 1m 2,5mm Black

5526-10-032 27-35mm 1m 2,5mm Black

5526-10-040 3542 mm 1m 3,0 mm Black

5526-10-050 42-58 mm 1 m 3,0 mm Black

5526-10-075 58-70mm 1m 4,0 mm Black

5526-10-090 70-90 mm 1m 4,5mm Black

5526-10-110 90-110 mm 1m 5,0 mm Black

5526-10-140 115-135mm 1m 55mm  Black

5526-10-160 135-165mm 1m 55mm  Black

Other colours are available upon request

Right protection for the right hose
Part number Fits hose size
552x-xx-016 3/16"
552x-xx-016 1/4"
552x-xx-020 3/8"
552x-xx-025 1/2"
552x-xx-032 3/4"
552x-xx-040 1"
552x-xx-050 11/4"
552x-xx-075 11/2"
552x-xx-075 2"
552-x-xx-090 2" 6-steel spiral hose

(@&  PRODUCT CATALOGUE




CHAPTER 5:05 ACCESSORIES

Make your hoses visible in the dark . 5526 80
Hydroscand luminous hose protection makes your ho- Hose protection, luminous
ses visible in the dark. The luminous Hydroscand spiral

is a security product that can be used for all types of

hoses PRODUCT GROUP 505

Part number Type Standard length
5526-80-016 Hose protection luminous g 12-17 mm 20 m
5526-80-020 Hose protection luminous g 16-22 mm 20m
5526-80-025 Hose protection luminous @ 22-28 mm 20 m
5526-80-032 Hose protection luminous @ 27-33 mm 20 m
5526-80-040 Hose protection luminous g 33-42 mm 20 m

5525

Fire sleeve for hose

5528

Stainless steel braid

Fiberglass/silicone
Temperature range: -65° - +260°C
Temporarily: (15 min.) +1050°C

PRODUCT GROUP 505 PRODUCT GROUP 505
Part number ID Thickness Part number Description ID Weight kg/m
5555‘83'82 10 mm 4 mm 5528-00-12  Stainless steel braid 12 mm 0,09
5525‘00'10 13 mm 4 mm 5528-00-16  Stainless steel braid 16 mm 0,13
5525'00' g 16 mm 4 mm 5528-00-19  Stainless steel braid 19 mm 0,14
5525‘00'14 ;gf“”" 4 mm 5528-00-24  Stainless steel braid 24 mm 0,24
5525‘00'16 2 mm 4 mm 5528-00-29  Stainless steel braid 29 mm 0,24
5525‘00'18 25f“”" 4 mm 5528-00-35  Stainless steel braid 35 mm 0,30
5525‘00'20 gr“”" 4 mm 5528-00-44  Stainless steel braid 44 mm 0,48
5525‘00'22 32 mm 4 mm 5528-00-53  Stainless steel braid 53 mm 0,61
5525‘00'24 35 mm 4 mm 5528-00-66  Stainless steel braid 66 mm 0,70
ggzg:oo:zs ij mm j mm 5528-00-86  Stainless steel braid 86 mm 1,20
5525-00-32 51 mm 4 mm 5528-00-98 Stainless steel braid 98 mm 1,41
5525-00-39 57 mm 4 mm
5525-00-41 64 mm 4 mm
5525-00-44 70 mm 4 mm
5525-00-48 76 mm 4 mm
5525-00-52 83 mm 4 mm
5525-00-56 89 mm 4 mm
5525-00-64 102 mm 4 mm
5525-10
I L) Pyrosil™ Tape

— Withstand temperatures up to +246°C
Adheres only against similar material,
4 non-adhesive.

PRODUCT GROUP 505

Part number  Width Thickness
5525-10-01 25 mm 0,5 mm
5525-10-02 38 mm 1,5 mm

PRODUCT CATALOGUE &




CHAPTER 5:05 ACCESSORIES

5528-01

Whipcheck
Safety cable

PRODUCT GROUP 505

5905

Cambuckle strap

PRODUCT GROUP 505

Part number Type

5528-01-02 Hose to hose 1/2"” -1 1/4"
5528-01-04 Hose to hose 1 1/2" - 3"
5528-01-06 Hose to hose 3" - 6”

5528-10
Support plait , two loops

=,

\\\\
C - —

Part number Description

PRODUCT GROUP 505

5528-10-20 Support plait, open 10-20 mm
5528-10-30 Support plait, open 20-30 mm
5528-10-40 Support plait, open 30-40 mm
5528-10-50 Support plait, open 40-50 mm
5528-10-65 Support plait, open 50-65 mm
5528-10-80 Support plait, open 65-80 mm
Also available in stainless design
5528-20
T, Support plait
\N"'\‘ \1 single
o
PRODUCT GROUP 505

Part number Description

5528-20-20 Support plait, single 10-20 mm
5528-20-30 Support plait, single 20-30 mm
5528-20-40 Support plait, single 30-40 mm
5528-20-50 Support plait, single 40-50 mm
5528-20-65 Support plait, single 50-65 mm
5528-20-80 Support plait, single 65-80 mm
Also available in stainless design

5528-01N

HH Hose halters nylon
Suitable for hose sizes 1/4” - 2"

N A

5528-01-02N Suitable for hose sizes 1/4"” - 2"

PRODUCT GROUP 505

@ PRODUCT CATALOGUE

Part number Description

Length

5905-04-05 Cambuckle strap 500 mm
5905-04-07 Cambuckle strap 750 mm
5905-04-10 Cambuckle strap 1000 mm
5905-04-20 Cambuckle strap 2000 mm
5905-04-50 Cambuckle strap 5000 mm
5906

Cable tie

PRODUCT GROUP 505

Part number Description Length Width pcs/pack

5906-00-09 Cable tie 95 mm  2,5mm 200
5906-00-15 Cable tie 150 mm 3,5 mm 100
5906-00-19 Cable tie 200 mm 3,5 mm 100
5906-00-20 Cable tie 200 mm 4,6 mm 100
5906-00-27 Cable tie 300 mm 4,6 mm 100
5906-00-38 Cable tie 385mm 7,6 mm 100
5906-00-39 Cable tie 385 mm 4,6 mm 100
5906-00-45 Cable tie 450 mm 7,6 mm 100
5906-00-53 Cable tie 533 mm 8,9 mm 100
5906-00-55 Cable tie 540 mm 13,0 mm 50
5906-00-75 Cable tie 755 mm 7,6 mm 50
1415-50

Tiger Tail

For hoses up to 1 1/4”

PRODUCT GROUP 505

Part number Length ID mm
1415-50 90 cm 76
5528-90

Safety handle

For hoses and pipes

PRODUCT GROUP 505

Part number Dimension
5528-90-48 3"
5528-90-96 6"
5528-90-64 4"

CHVE




CHAPTER 5:05 ACCESSORIES

5530-01

Protection plug, tapered

Red

PRODUCT GROUP 505

5531-01
Protection cap UNF F

Yellow

PRODUCT GROUP 505

Part number Description ID mm
5530-01-10 Protection plug 8,2-9,4
5530-01-11 Protection plug 9,2-10,6
5530-01-12 Protection plug 99-11,1
5530-01-15 Protection plug 10,8-12,6
5530-01-16 Protection plug 11,6 - 13,0
5530-01-17 Protection plug 12,4 - 13,9
5530-01-18 Protection plug 13,0 - 14,2
5530-01-20 Protection plug 14,1 - 15,9
5530-01-25 Protection plug 14,5 - 16,1
5530-01-27 Protection plug 15,4 -17,2
5530-01-30 Protection plug 17,0 - 19,0
5530-01-35 Protection plug 18,0 - 20,2
5530-01-36 Protection plug 19,4 - 21,3
5530-01-37 Protection plug 20,2 - 22,0
5530-01-38 Protection plug 21,5 - 23,5
5530-01-40 Protection plug 22,4 - 25,3
5530-01-41 Protection plug 24,0 - 25,7
5530-01-42 Protection plug 25,2 - 27,2
5530-01-44 Protection plug 27,4 - 28,7
5530-01-45 Protection plug 27,8 - 30,5
5530-01-50 Protection plug 29,4 - 31,8
5530-01-52 Protection plug 31,0 - 33,2
5530-01-55 Protection plug 33,2 -35,0
5530-01-60 Protection plug 38,0 - 40,4
5530-01-65 Protection plug 41,5 -43,9
5530-01-70 Protection plug 44,0 - 46,8
5530-01-75 Protection plug 47,2 - 49,7
5530-01-76 Protection plug 49,1 - 51,5

; 5533-01
ﬁ Protection cap G F
| Yellow
- PRODUCT GROUP 505

-

Part number Description Thread
5533-01-02 Protection cap G1/8"F
5533-01-04 Protection cap G1/4"F
5533-01-06 Protection cap G 3/8"F
5533-01-08 Protection cap G1/2"F
5533-01-10 Protection cap G5/8"F
5533-01-12 Protection cap G 3/4"F
5533-01-14 Protection cap G7/8"F
5533-01-16 Protection cap G1"F
5533-01-20 Protection cap G11/4"F
5533-01-24 Protection cap G1/2"F
5533-01-32 Protection cap G2"F

Part number Description Thread

5531-01-07 Protection cap 7/16" - 20 UNF F
5531-01-08 Protection cap 1/2" - 20 UNF F
5531-01-09 Protection cap 9/16" - 18 UNF F
5531-01-12 Protection cap 3/4" - 16 UNF F
5531-01-14 Protection cap 7/8" - 14 UNF F
5531-01-17 Protection cap 11/16" - 12 UNF F
5531-01-19 Protection cap 13/16" - 12 UNF F
5531-01-21 Protection cap 15/16" - 12 UNF F
5531-01-26 Protection cap 15/8"-12 UNFF
5531-01-30 Protection cap 17/8"-12 UNF F
5533-05
&- Protection cap MM F
Yellow
' M PRODUCT GROUP 505
Part number Description Thread
5533-05-12 Protection cap M12x15F
5533-05-14 Protection cap M14x15F
5533-05-16 Protection cap M16x1,5F
5533-05-18 Protection cap M18x1,5F
5533-05-20 Protection cap M20x1,5F
5533-05-22 Protection cap M22x15F
5533-05-24 Protection cap M24x15F
5533-05-26 Protection cap M26x1,5F
5533-05-30 Protection cap M30x1,5F
5533-05-36 Protection cap M36x1,5F
5533-05-42 Protection cap M42x20F
5533-05-45 Protection cap M45x 2,0 F
5533-05-52 Protection cap M52x20F
5533-00
Protection plug G M
Yellow
- PRODUCT GROUP 505
-
Part number Description Thread
5533-00-02 Protection plug G1/8"M
5533-00-04 Protection plug G1/4"M
5533-00-06 Protection plug G3/8"M
5533-00-08 Protection plug G1/2"M
5533-00-10 Protection plug G5/8"M
5533-00-12 Protection plug G 3/4" M
5533-00-14 Protection plug G7/8"M
5533-00-16 Protection plug G1"M
5533-00-20 Protection plug G11/4"M
5533-00-24 Protection plug G11/2"M
5533-00-32 Protection plug G2"M

PRODUCT CATALOGUE

(]




CHAPTER 5:05 ACCESSORIES

5531-00 ~ 5534-03/06
Protection plug - UNF M Protection cap- SAE flanr?ed
Yellow ¢
PRODUCT GROUP 505
— PRODUCT GROUP 505

Part number Description Dim.

Part number  Description Thread 5534-03-08 Protection cap SAE Flange 3000 PSI CODE 61 1/2"

. 5534-03-12 Protection cap SAE Flange 3000 PSI CODE 61 3/4"
5531-00-07 Protection plug 7/16" - 20 UNF M

: R 5534-03-16 Protection cap SAE Flange 3000 PSI CODE 61 1"
5531-00-08  Protection plug 1/2" =20 UNFM 55340320 Protection cap SAE Flange 3000 PSI CODE 61 1 1/4"
5531-00-09 Protection plug 9/16" - 18 UNFM 5534-03-24 Protection cap SAE Flange 3000 PSI CODE 61 1 1/2"
5531-00-12 Protection plug 3/4"-16 UNFM 5534-03-32 Protection cap SAE Flange 3000 PSI CODE 61 2"
5531-00-14 Protection plug 7/8" - 14 UNFM 5534-06-08 Protection cap SAE Flange 6000 PSI CODE 62 1/2"
5531-00-17 Protection plug 1 1/16"-12 UNFM 5534-06-12 Protection cap SAE Flange 6000 PSI CODE 62 3/4"
5531-00-19 Protection plug 1 3/16" - 12 UNF M 5534-06-16 Protection cap SAE Flange 6000 PSI CODE 62 1"
5531-00-21 Protection plug 1 5/16" - 12 UNF M 5534-06-20 Protect?on cap SAE Flange 6000 PSI CODE 62 1 1/4:
s530026  prowctenplig 156712 WM SSE06I P cp e faae 600 Sl co0E 11
5531-00-30 Protection plug 1 7/8"-12 UNFM rotection cap ange
5533-06
Protection plug MM M
Yellow
- PRODUCT GROUP 505
Part number Description Thread
5533-06-14 Protection plug M14x1,5M
5533-06-16 Protection plug M 16 x 1,5 M 5:05
5533-06-18 Protection plug M18x1,5M
5533-06-20 Protection plug M20x1,5M
5533-06-22 Protection plug M22x1,5M
5533-06-24 Protection plug M24x15M
5533-06-26 Protection plug M26x1,5M
5533-06-30 Protection plug M30x1,5M
5533-06-36 Protection plug M36x15M
5532-03
Protection plug - KS

Red

PRODUCT GROUP 505

Part number Description Fits
5532-03-15 Protection plug G 1/4"
5532-03-25 Protection plug G 3/8"
5532-03-35 Protection plug G 1/2"
5532-03-40 Protection plug G 3/4"
5532-03-50 Protection plug G 1"
5532-03-60 Protection plug G 11/4"
5532-03-70 Protection plug G 11/2"

(@&  PRODUCT CATALOGUE




CHAPTER 5:05 ACCESSORIES

(oo 5601-00-02 el 5902-90-01

ELLLIDEIEE Assortment box Bl Assortment box

Rubber steel washer Grease nipples

BSP

PRODUCT GROUP 502
PRODUCT GROUP 505

Part number Description Type Quantity Part number  Description Quantity
5601-00-02 Rubber steel washer inch 118 pcs/9 sizes 5902-90-01 Grease nipples 4 nozzles/135 nipples
[ 5601-00-04 rr— 24-9000-01

LSS A Assortment box b Assortment box
: s

Rubber steel washer
BSP/mm

PRODUCT GROUP 502 PRODUCT GROUP 502

Part number Description Type Quantity

5601-00-04 Rubber steel washer inch/mm 225 pcs 24-9000-01-01 Central lubrication Repair Set
/15 sizes 24-9000-01-10 Central lubrication Service Set, large

Part number  Description

==l 5601-00-03 M00000001
LRl ZTER  Assortment box Assortment box
Pneumatic

Rubber steel washer

mm

100000001

PRODUCT GROUP 502 PRODUCT GROUP 502

Part number  Description Type Quantity Part number Description
5601-00-03 Rubber steel washer mm 130 pcs M00000001 Assortment box Pneumatic
/9 sizes
e 5611-00-03 — [vonoscano] 5561-00-01
LISRAEE  Assortment box L o] WSFULLIEE  Assortment box
o 0-rings ORFS Hose clamp mini
W1 8-17 mm

PRODUCT GROUP 502

Part numberDescription Antal

5611-00-03 ORFS O-rings 145 pcs/8 sizes 5561-00-01 Hose clamps mini W1 174 st/10 sizes

PRODUCT GROUP 502

Part number  Description Quantity

Basen L] =3 5561-00-02

. e 5620-00-01 L O | HOSE CLAMPS Y b
COPPER WASHERS S W1 6.65 ssortment box
R e Hose clamps SMS

W1 8-65 mm

Assortment box
Copper plate

PRODUCT GROUP 502

Part number Description Antal

5561-00-02 Hose clamps SMS 103 st/11 sizes
5620-00-01 Copper plate mm 225 pcs/9 sizes W1 8-65 mm

PRODUCT GROUP 502

Part number  Description Type Quantity

PRODUCT CATALOGUE




CHAPTER 5:05 ACCESSORIES

=0l 5563-00-12

HOSE CLAMPS e s (1

Hose clamps SMS
Stainless

5611-00-01

0-ring set, inch

PRODUCT GROUP 502

PRODUCT GROUP 502

Part number Description Quantity

Part number  Description Type Quantity

5563-00-12 Hose clamps 97 pcs/10 sizes 5611-00-01 0O-rings inch 328 pcs/30 sizes
SMS Syrafast

5611-00-02
0-ring set, metric

(@@vomoscano) 5568-00-01

HOSE CLAMPS Assortment box

Hose clamps
DIN 3017 W1 8-70 mm

PRODUCT GROUP 502

PRODUCT GROUP 502

Part number  Description Type Quantity
I8 MAMTDET [DEEER (e QR sy 5611-00-02 O-rings mm 460 pcs/30 sizes
5568-00-02 Hose clamps DIN 81 pcs/8 sizes
=Sl =] 5564-00-06 5099-24-08
L o] USRS LL S  Assortment box Pick and hook set 5:05
2-pack

Hose clamps
DIN 3017 W5 8-70 mm

PRODUCT GROUP 505
PRODUCT GROUP 502

Part number Description Quantity

5564-00-02 Hose clamps 80 pcs/8 sizes
DIN Stainless

Part number Description

5099-24-08 Pick and hook set, 2-pack

(@&  PRODUCT CATALOGUE




CHAPTER 5:05 ACCESSORIES

5610-02
0-ring for SAE-flange

NB! dim. 02-10 fits with Komatsu flange 34,2 mm

PRODUCT GROUP 510

5610-10
0-ring for BSP hose fitting

PRODUCT GROUP 510

Part number Description For
5610-02-08 O-ring 1/2” Fange
5610-02-10 O-ring 5/8" Flange
5610-02-12 O-ring 3/4" Flange
5610-02-16 O-ring 1” Flange
5610-02-20 O-ring 1 1/4” Flange
5610-02-24 O-ring 1 1/2" Flange
5610-02-32 O-ring 2" Flange
5610-02-40 O-ring 2 1/2” Flange
5610-03
0-ring for DKLO
DKSO from 6-12
PRODUCT GROUP 510
Part number Description For
5610-03-06 O-ring DKLO/DKSO 6
5610-03-08 O-ring DKLO/DKSO 8
5610-03-10 O-ring DKLO/DKSO 10
5610-03-12 O-ring DKLO/DKSO 12
5610-03-15 O-ring DKLO 15
5610-03-18 O-ring DKLO 18
5610-03-22 O-ring DKLO 22
5610-03-28 O-ring DKLO 28
5610-03-35 O-ring DKLO 35
5610-03-42 O-ring DKLO 42
5610-04
0-ring for DKSO
PRODUCT GROUP 510
Part number Description For
5610-04-14 O-ring DKSO 14
5610-04-16 O-ring DKSO 16
5610-04-20 O-ring DKSO 20
5610-04-25 O-ring DKSO 25
5610-04-30 O-ring DKSO 30
5610-04-38 O-ring DKSO 38
5610-05

0-ring for high pressure washer

PRODUCT GROUP 510

Part number Description For
5610-10-04 O-ring G 1/4”
5610-10-06 O-ring G 3/8”
5610-10-08 0O-ring G 1/2"
5610-10-10 O-ring G 5/8”
5610-10-12 O-ring G 3/4”
5610-10-16 O-ring G1”
5610-10-20 O-ring G11/4"
5610-10-24 O-ring G11/2"
5610-10-32 0O-ring G 2"
5610-01
0-ring
PRODUCT GROUP 510
Part number Description For
5610-01-07 O-ring 7/16" UNF
5610-01-08 O-ring 1/2" UNF
5610-01-09 O-ring 9/16" UNF
5610-01-12 O-ring 3/4" UNF
5610-01-14 O-ring 7/8" UNF
5610-01-17 O-ring 11/16" UNF
5610-01-19 O-ring 1 3/16" UNF
5610-01-21 O-ring 1 5/16" UNF
5610-01-26 O-ring 1 5/8" UNF
5610-01-30 O-ring 1 7/8" UNF
5610-07
0-ring
PRODUCT GROUP 510
Part number Description For
5610-07-04 O-ring 9/16" ORFS
5610-07-06 O-ring 11/16" ORFS
5610-07-08 O-ring 13/16" ORFS
5610-07-10 O-ring 1" ORFS
5610-07-12 O-ring 1 3/16" ORFS
5610-07-16 O-ring 1 7/16" ORFS
5610-07-20 O-ring 111/16" ORFS
5610-07-24 O-ring 2" ORFS
5610-13

D-ring NBR supercat flange

For Supercat

PRODUCT GROUP 510

Part number Description For

5610-05-14 O-ring 4373-14-xx

Part number Dimension

5610-13-12 3/4”
5610-13-16 1"
5610-13-20 11/4”
5610-13-24 11/2”
5610-13-32 2"

PRODUCT CATALOGUE (@&




CHAPTER 5:05 ACCESSORIES

5601 - 5620

Rubber steel washer Copper plate

PRODUCT GROUP 510 PRODUCT GROUP 510

Part number Description For thread Part number Description 1D OD Thickness
5601-01-02 Rubber steel washer NBR G 1/8" 5620-05-09  Copper plate 5,0 9,0 1,0
5601-01-04 Rubber steel washer NBR G 1/4" 5620-06-10  Copper plate 6,0 10,0 1,0
5601-01-06 Rubber steel washer NBR G 3/8" 5620-06-12  Copper plate 6,0 12,0 1,0
5601-01-08 Rubber steel washer NBR G 1/2" 5620-08-12  Copper plate 8,0 12,0 1,0
5601-01-10 Rubber steel washer NBR G 5/8" 5620-08-14  Copper plate 8,0 14,0 1,0
5601-01-12 Rubber steel washer NBR G 3/4”
5601-01-16 Rubber steel washer NBR G1” 5620-10-14  Copper plate 10,0 14,0 1,0
5601-01-20 Rubber steel washer NBR G 1 1/4” 5620-10-15  Copper plate 10,0 15,0 1,0
5601-01-24 Rubber steel washer NBR G 1 1/2” 5620-10-16  Copper plate 10,0 16,0 1,0
5601-01-32 Rubber steel washer NBR G 2" 5620-11-17  Copper plate 11,0 17,0 1,0
5601-01-40 Rubber steel washer NBR G 2 1/2” 5620-12-16  Copper plate 12,0 16,0 1,5
5601-01-48 Rubber steel washer NBR G3”

5620-12-18 Copper plate 12,0 18,0 1,5
5601-02-05 Rubber steel washer NBR M5 5620-12-19  Copper plate 12,0 19,0 1,0
5601-02-06 Rubber steel washer NBR M6 5620-12-20  Copper plate 12,0 20,0 2,0
5601-02-08 Rubber steel washer NBR M 8 5620-13-18  Copper plate 13,5 18,0 1,5
5601-02-10 Rubber steel washer NBR M 10 5620-13-19  Copper plate 13,0 19,0 1,5
5601-02-12 Rubber steel washer NBR M 12
5601-02-14 Rubber steel washer NBR M 14 5620-14-18  Copper plate 14,0 18,0 1,5
5601-02-16  Rubber steel washer NBR M 16 5620-14-20  Copper plate 14,0 20,0 1,5 5:05
5601-02-18 Rubber steel washer NBR M 18 5620-14-24  Copper plate 14,0 24,0 1,0
5601-02-20 Rubber steel washer NBR M 20 5620-16-22  Copper plate 16,0 22,0 1,5
5601-02-22 Rubber steel washer NBR M 22 5620-17-21  Copper plate 17,0 21,0 1,5
5601-02-27 Rubber steel washer NBR M 27
5601-02-28 Rubber steel washer NBR M 28 5620-17-22  Copper plate 17,0 22,0 1,5
5601-02-36 Rubber steel washer NBR M 36 5620-17-23  Copper plate 17,0 23,0 1,5
5601-02-45 Rubber steel washer NBR M 45 5620-18-22  Copper plate 18,0 22,0 1,5

5620-18-24 Copper plate 18,0 24,0 1,5
5601-01-02V  Rubber steel washer viton G 1/8” 5620-20-26  Copper plate 20,0 26,0 1,5

5601-01-04V Rubber steel washer viton G 1/4"

5601-01-06V  Rubber steel washer viton G 3/8” 5620-21-26  Copper plate 21,0 26,0 1,5

5601-01-08V  Rubber steel washer viton G 172" ~ °620-21-27. Copperplate 21,0 27,0 L5

5601-01-10V  Rubber steel washer viton ~ G 5/8” ~ >620-22-27. Copper plate 22,0 27,0 L5

5601-01-12V  Rubber steel washer viton G 3/4” ~ >620-22-29  Copper plate 22,0 29,0 L5

5601-01-16V  Rubber steel washer viton G1” 5620-23-28  Copper plate 23,0 28,0 1,5

5601-01-20V Rubber steel washer viton G 1 1/4”

5601-01-24V  Rubber steel washer viton G 1 172" ~ 620-24-29 Copper plate 24,0 29,0 2,0

5601-01-32V  Rubber steel washer viton G2  9620-24-30  Copperplate 24,0 30,0 2,0

5601-01-40V  Rubber steel washer viton G2 172" ~ °620-26-32 Copper plate 26,0 32,0 2,0
5620-27-32 Copper plate 27,0 32,0 2,0

5601-02-05V  Rubber steel washer viton M5 5620-33-39  Copper plate 33,0 39,0 2,0

5601-02-06V Rubber steel washer viton M 6

5601-02-08V  Rubber steel washer viton M8 5620-38-44  Copper plate 38,0 44,0 2,0

5601-02-10V  Rubber steel washer viton M 10 5620-60-68  Copper plate 60,0 68,0 2,5

5601-02-12V Rubber steel washer viton M 12

5601-02-14V Rubber steel washer viton M 14

5601-02-16V Rubber steel washer viton M 16

5601-02-18V Rubber steel washer viton M 18

5601-02-20V Rubber steel washer viton M 20

5601-02-22V Rubber steel washer viton M 22

5601-02-27V Rubber steel washer viton M 27

5601-02-28V Rubber steel washer viton M 28

5601-02-36V Rubber steel washer viton M 36

5601-02-45V Rubber steel washer viton M 45

(@&  PRODUCT CATALOGUE




CHAPTER 5:05 ACCESSORIES

5660-70-01

Threadlocker
Low strength
50 ml

PRODUCT GROUP 503

5660-70-30

Pipe thread sealant
Low-strength
250 ml

PRODUCT GROUP 503

PRODUCT GROUP 503

Part number Viscosity Gap Thread Temperature Part number Viscosity Thread Temperature
5660-70-01 1000 0,20 M36 -55-+150°C 5660-70-30 20000tx 0,30 M80 R3” -55-+150°C
5660-70-02 5660-70-08
Threadlocker . Pipe thread sealant
Medium-strength Medium-strength
50 ml 75 ml
PRODUCT GROUP 503 PRODUCT GROUP 503
Part number Viscosity Gap Thread Temperature Part number Viscosity Thread Temperature
5660-70-02 3000 0,25 M36 -55-4+200°C 5660-70-08 28000tx 0,50 M80 R3” -55-+150°C
5660-70-03 5660-70-09
Threadlocker Pipe thread sealant
High-strength Medium-strength
50 ml 250 ml

PRODUCT GROUP 503

Part number Viscosity Gap Thread Temperature

Part number Viscosity Gap

Thread Temperature

5660-70-03 600 0,15 M25  -55-+150°C 5660-70-09 28000tx 0,50 M80 R3” -55-+150°C
5660-70-05 5660-70-07
Hydraulic sealant Surface sealant
Medium-strength Medium-strength
50 ml 75 ml
PRODUCT GROUP 503 PRODUCT GROUP 503
Part number Viscosity Gap Thread Temperature Part number Viscosity Gap Temperature
5660-70-05 600 0,15 R 3/4" -55-+150°C 5660-70-07  3000tx 0,50 -55-+150°C
5660-70-06 5660-70-15
Pipe thread sealant Adhesive grease spray
Low-strength 400 ml
- 75 ml
PRODUCT GROUP 503
PRODUCT GROUP 503
: : Transparent high-performance grease for high
Part number Viscosity Gap Thread Temperature compression loads with excellent adhering
5660-70-06 20000tx 0,30 M80 R3” -55-+150°C characteristics. Excellent creep characteristics. Tem-

perature resistant from -20°C to +180°C (short-term to

+230°C).

PRODUCT CATALOGUE  ((H




CHAPTER 5:05 ACCESSORIES

5660-70-16 5660-70-13
Multi protection spray Instant adhesive elastomer
400 ml 209

PRODUCT GROUP 503
PRODUCT GROUP 503

_

All-in-one preservation, cleaning and lubrication

spray. Blocks moisture. Excellent capillary action. Part number  Viscosity Temperature
Lubricates chains, bearings, rollers, etc. Temperature 5660-70-13 30 -30-+80°C
resistant to +230°C.
5660-70-21 5660-70-14
- Assembly cleaner, spray
Power belt spray | 500 ml
3 400 ml 1

; PRODUCT GROUP 503
PRODUCT GROUP 503
y -

Deep cleaning and degreasing effect. Removes oils,

Increases life of all belt types. Protects against wear. .
P 9 grease, tar, etc. Evaporates quickly.

Reduces working noise.

5660-70-22 5660-70-18

0il spray for drilling and cutting Multi Power Cleaner, spray
400 ml 500 ml

PRODUCT GROUP 503 PRODUCT GROUP 503

e - 5:05
Increases life of drilling and cutting tools, excellent
cooling effect and reduces friction. Max temperature
+260° C

Outstanding power cleaner with extremely high
releasing effect for residue-free cleaning. For any type
of metal cleaning operation, degreasing and especially
for cleaning before painting/coating.

500 ml

5660-70-24
PTFE-
oo E 5660-70-28
PRODUCT GROUP 503 Brake cleaner, spray

PRODUCT GROUP 503
Non-greasy and quick drying, dry lubricant. Does not
attract dirt. Reduces friction. Temperature resistance to

o
+270°C. Quick cleaning and degreasing of brake rotors and

other break components like calipers, break pads, etc.
Removes oil, wear debris and other contamination. Well
suited for removing silicone residues on metal surfaces.

5660-70-12

Instant adhesive universal
20g

' PRODUCT GROUP 503

Part number Viscosity Temperature

5660-70-12 100 -30-+80°C

(@&  PRODUCT CATALOGUE




CHAPTER 5:05 ACCESSORIES

5660-70-11

Activator
For anaerobic adhesive spray
150 ml

PRODUCT GROUP 503

Accelerates the hardening of anaerobe adhesives.

5660-70-25

Rust solvent with MoS,, spray
400 ml

PRODUCT GROUP 503

Loosens jammed bolts and nuts. Excellent creep capa-
bility and high capillary action. Cuts through moisture
and subsequently protects against corrosion.

5660-70-20
Retaining compound

High-strength
50 ml

PRODUCT GROUP 503

To secure bearings, bushings and sleeves. Hardens
well at low temperatures and with passive metal
surfaces.

Part number  Temperature

5660-70-20 -55-+150°C

5660-70-29

Leak detection spray
300 ml

PRODUCT GROUP 503

Excellent foam formation. Serves to locate leaks and
porous areas, e.g. hair line cracks, weld points, gas and
compressed air systems. Biological decomposable.

5660-70-79
N

Instant adhesive universal
59

H=0

:

I PRODUCT GROUP 503

—

%

Part number Quantity

5660-70-79 25 pieces

PRODUCT CATALOGUE




